


Find the y-intercept and Yo
the slope for each of the following. 50 =
A AA AA

)5y =10 =15x — 3(
H4(x+3)+2y =11
N2(y—=T7)+2=3(x—4)+y




y-int.: -4

slope: 3
)3y —10=15x—-30
Sy=15x-30+10
Sy=15x-20
y=3x-4




y-int.: = 1/2

slope: =2
b) 4(x+3)+2y=11
4x+12+2y=11
2y=11-4x-12

2y=-4x-1
y=-2X-1

2




yint: 0O
slope: 3
c) 2(y-7)+2=3(x-4)+y
2y-14+2=3x-12+y
2y-y=3x-12+14-2
y=3x+0
y=3X
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2
y=—Xx-95
3
St aat
S})l-int.: _’S
slope: 5/3




11

o slope:

b o plo

—x+—y=
3772073

3&)! +k}=§

:gx«-_&
a* gxa

y-int.:
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